2011 Geography

Question 11

A new estate within a suburban area of a city is gated and surrounded by a large wall.
What is this an example of?

A X Urban village
B X Consolidation
C X Suburbanisation
D v Spatial exclusion

HSC Statistics on this Question:

s e et W S
90 %- i1 i e e M
80 %~ e N o S
o z
z 70 % -~ e s NN e et o
5 A
T o60% e e o
g | Bl
50 % T B S B
v 5 cl
E Q0 9- 7o e D
- |
-
w
52

30 5. N E— N — 4 BN S N1
I ------------------- L L 1 T —
0% | ~~~~~~~~~~ 1 T L E— i
PN | SN |1ONNFA N .

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 28% 15% 20% 11% 4%

B 30% 10% 7% 2% 0%
C 18% 8% 3% 1% 0%
D 24% 67% 70% 86% 96%
N 0% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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